FSATIVISR BF1TAYY

=i RE AR - T 2 - miR IE
A C D L
(JFET=X) (Z2BE#E - andy tennis) (every tc) (M¥T¥C) i
=g RE
A _ 5-6 6—-4 4-6 3
(JFETZ=X)
AR - FHI
B 6-5 6—-3 1-6 2
(L %48 - andy tennis)
8- T
C 4-6 3-6 1-6 4
(every tc)
D 6—-4 6-1 6-1 1
(M¥*T%C)
FSATILOSR BF2TAavY
A =El-H 5 B ED c i AN - T 7 IiE
(M#T#C) (Fy—) Top) |
Fl-HHA
A 8-2 4-8 2
(M¥*T%C)
B - ER
B 2-8 1-8 3
(79)—-)
UhAN -
C 8—4 8—-1 1
(TOP)
Bz - Bls 2
(M¥%T%C) —
=1-¢H |
(M#% T%C) y
=|1-JEH
(M T+#C) - —
6 a 7% =
3 (TOP)
A -3
(Z#E#H - andy tennis) — —
Ui AN - T s P
(TOP)

(TOP)




